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PART -1: MENTAL ABILTTY TEST
{For Student of Class VIII)
bl Marks - G0

INSTRUCTIONS TO CANDIDATES

Fead the following instraction carefully betone you open
the Question Booklet.

1. Answers are to be given on the same OMR Answer
Sheet.

2. There are 30 questions in this booklet. All are
compulsory.

Time : 90 hinutes

3. Choose the correct answer from the options given
for each question and darken the corresponding
circle with black ball point pen in the OMR Answer
Sheet. Do not mark Vo ' in the OME sheel.

4, Since the time allotted for this Question [aper is
very limited you should make the best use of it by

notspending too much time on any one question.

5. If you donot know the answer to any questiom, do not
waste time on it and pass on ko the next one. If time
permits, you can come back bo the questions, w hich
you have left in the first instance and attempt them.

6. Rough work can be done anywhere in the Question
Booklet but not in the OMR Sheet/ loose paper.

7. Each correct answer will be awarded one mark.

8. Please return the OMR Answer Sheet only to the
frwvigilator after the test. You can vetain the Cuestion
Booklet,

9, Quote your seven digit Roll Number without fail for
any future correspondsnce.

PLEASE TURN OVER THE PAGE AND START
ANSWERING.
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Direction : (Question Number 1 to 10) :

Find the missing number,/ letters in the following

sequences.

1. 9,30,51, 72,
(1) 103

(3) 94

2. 5.4,9 134,
(1) 36

(@ 35

3. 3412 48
1) 576

(3) 412

4. 328, 164, B2,
(1) 50

(3) 41

[CopE[vi] 1 | 20 |

MENTAL ABILITY TEST / wengdipsn Cmiay

()

(4)

(2)

(4)

(4)

(2)

(4)

93

Bl

42

29

673

316

26

40

afinpsnp : (sSerm eew. 1 (pHe 10 ausmr)

eraumih Gam i aflasda afiul s/

BT 5 B T & 560 (Hu T s ay.

1. 9,30, 51, 72, e —
(1) 103 ()
& % {4)

2. 54,9 13 22,

1) 36 2)
(3) 35 (4)
3,4,12, 48,
(1) 576 (2)
(3 412 (4)
328, 164, B2,

(1) 50 (2)
3 4 (4)

a3

81

42

29

675

al6

26

&0
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1,4, 9 16, 25,

(1) 38

(3) 48

i .I.- _5|| 25|

| e

(1) 125

(3) 75

5.- 11: 13! ":'?.l

(1) &7

(3) a7

A D G ]
(1) M

33 ©O

AZ, CX, EV,
(1) HR

{3} GS

@ 41

(4} 36

(2) -—-125

4) -75

(2) &5

(4) 95

) N

(4) P

IR
(@ Gr

{4) HS

14 8. 16, 25,
(1) 38

(3) 48

() 135

{3} 75

5, 11, 23, 47,
(1} 87

(3} 97

AZ, CX, BV,
(1) HR

(3} GS

1
=, 1, =5,25,
= -

{2) 41

) 36

(2} -125

4}y 75

(2) 85

(4) 95

(2] N

(4) P

2} GT

(4) HS



16,

11.

12.

7Y, 5V, ,17], 264
(1) 128
(2) 7R
3) 10Q

(4) 10E

“Gun” is related to “Soldier”. In the same
way “"Needle” is related to

(1) Tailor

(2} Thread

(3] Weaver

(4] Sewing Machine

“Wan" is related to “Child” then "Cow"
is related to :

(1) Calf

(2) Bullock

(3) Cub

(4} Milk

10.

11.

12,

[CODE[VII[ 1 [ 20|

2Y, 5V, 17]. 26A
(1) 125

(2 7R

(3) 10Q

(4) 10R

“Gun” eerug  “Soldier” sETU L 6T

Gl fme g sraflay, “Needle” mamug
2 Lar Qamfusml i)

(1) Tailor

{2) Thread

(3) Weaver

{4} Sewing Machine

“Man” gamug  “Child” o Lér
GEm_fymLLg el “Cow” aerug)
srargmesim Glsm_iysme gy 7

(1) Calf

(2} Bullock

(3} Cub

(4) Milk
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Direction

: (Question Number 13 to 16)

There is some relationship between first two
given words/ letters/ numbers. Find the other
one from the given alternatives having the
similar relationship.

13. Butter : Milk : :

(L)
(2)
(3]

(4)

Book : Paper
Paper : Book
Book : Colour

Book : Pages

14. Water: Pipe:: Blood;: _ ?

(1)
(2)
(3)

(4)

15. A:

(1

(3)

.I’Lrl:er:.r
Heart
Brain

Bone marrow

Y (2) Z

0 4 B

auflppenm : (ellsrn erer. 13 gpge 16 susnr)

Wesili o st @reinE wnides/ T/
erenm & g & Hlan G g@sgud @ Qsmufy
agrerg. s G@r_fildér gueiumi i
Gar@ssiu’ L Asfusaidlpis Gurmss
sorsmang CoikblsEseng.

13. Butter : Milk - ;

(1) Book : Paper
{2) Paper: Book
(3} Book : Colour

(4] Book: Pages

14. Water : Pipe::Blood: _ ?
(1}  Artery
(2} Heart
{3} Brain

(4] Bone marrow

1%. A:EB::l: -7
(1 Y (2) Z

3 O (4 B



(1} 9 (23 11

(3 35 (4) 6

17. The missing letters in the sequence

a_ab_ba_ab is :
(1) bba (2) bab
(37 aab (4) abb

Direction : (Question Number 18 and 19)

Find the item which is not associated with
others,

18. (1) Dharmapuri
(2) Kanyakumari

{3} Ramnad

(4) Cuddalore

19. (1) + 2] -

@ x (4 =

[CODE[vi| 1 | 20 |

16, 2843 ?
1y 9 (2) 11

(3 3 4 &

17. a_ab ba_ab merp Ggrufld afifule

61 (LD SIS
(1) bba 2} bab
(3) aab (4) abb

auflgpenm : (sflewrn e, 18 whmib 19)
£Cy CerGésiu’ Lapdd Campul L mss
e (i Slig S auD.

18. (1) @oyf
(2)  asirafhuguorf]
(3)  [EemoETEmD

(4) s g

19. (1) + 2y -

(3 = 4 *
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20.

21.

22,

If ‘rain’ is called 'water”, "water’ is called
‘sea’, ‘sea’ is called “cloud’ then what do
we drink when thirsty ?

(1) water (2) sea
(3) cloud (4)

rain

If ABC is coded as 262524 and XYZ is
coded as 321 then PQR is coded as -

(1) 161718 (2} 181718

(3) 11109 (4) 91011

If "Cup Of Coffee” means COC, ‘Coffee Is
Tasty’ means CIT then ‘Creamy Tasty
Biscuit’ means :

(1) BTO (2) CTB
(3) CBT (4) cor
236100

AB=0, BC=2, CD=6 then ABC=7

(1) 3 (2 2

(3 o (4) &

20.

21.

22,

23.

‘rain’ TeTLg water’ stemegld, ‘water’
TENTLg ‘sea” eremraD, ‘sea’ Tamug ‘cloud’
AR ympEsiulLTd  gren

sTbleGLTEl 2y Emeum 7

.

(1) water (2) sea

(3] cloud (4) rain

ABC aéitug) 262524 stafmayln, XYZ qsiruig

321 sremayd @il Cun’ s me POR srstmLg; :
(1) 161718 (2) 181716
(3 11109 (4} 91011

‘Cup Of Coffee’ eeliug COC  smamah
‘Coffee Is Tasty’ esrugy CIT erearapd
aﬁ'ﬁﬁl‘j’ aﬁﬂfﬂ"ﬂ'ﬂ:ﬂ.lll_ﬂ'!'.ﬂ 'C]:'Eﬁm}' Ta_q.hr,r
Biscuit' sTebmLg; :

{1y BTO (2) CTB

(3) CBT (4) COT
AB=0, BC=2 CD=6 saflss ABC=?

3 (2) 2

(3 0 (4) &



24.

25.

26.

The logical right sequence of the four 24.

words given below :

Learn, Exam, Result, Book

(1) Result, Exam, Book, Learn
{2) Book, Learn, Exam, Result
(3} Exam, Learn, Result, Book

(4) Book, Exam, Learn, Result

The right alphabetical order of the four 25.

given words :

corporation, collar, coin, column

(1) collar, column, corporation, coin
(2) coin, column, collar, corporabion
(3}  column, coin, collar, corporation

(4) coin, collar, column, corporation

Choose one word that cannot be formed 26.

from the letters of the word "objection’.

(1}  object

(2) caution

(3] mnet (4) et

[COpE[vi] 1 | 20 |

£CyGlEmRasi (Reiran 4 i sengsafisin
(psmmuimes surflame :

Learn, Exam, Result, Book

(1) Result, Exam, Book, Leamn

{2) Book, Learn, Exam, Result

(3} Exam, Learn, Result, Book

(4) Book, Exam, Learn, Result
00195¢

@an{psatiul L s e e dssfian
Syt ysqnf) aflams ;

corporation, collar, coin, column

(1) collar, column, corporation, coin
(%) com, column, collar, corporation
{3) column, coin, collar, corporation

(4) coin, collar, column, corporation

‘objection’ ey st Hmsuilss e smar

TphsSsd ppabh o mards Buarg

ELITTT 60, ©
(1) object {2) caubion
(3)  net (4) et
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28.

29,

3.

Identify the meaningful word in the
following shuffled word : nescod

(1)  second {2)

noke

(3} noise (4

SO0

The fourth letter to the right of fifth letter
from the starting in the English alphabets
is ;

(t 1 21 1

3 H (4) E

The number of 7's preceded by 9 and also
followed by 6 in the series 89679756976
i5

1y 32 (2) 0

@ 1 (4) 3

Which of the following is the greatest
number ?

(1) (3x3x3)2 (2} (3+3+3)2

(3) 3+32+[32 (4)  [(3+3)9

10

a7.

28,

29.

30.

nescod wavm  wrhiflemodsio L
SWHSESA ppan 2 marassiuEn

ST SB(PETET i om :
{1} second (2) note
(3)  noise {4) score

b awhs wflmellda ofsrug
susddlmis wng udmb o drer
[T S TEEl TG -

1 1 (2) ]

(3) H 4) E

B96T9756076 e sreier Gmmdish 9-g
Clamiifs wpph 6-g@ Sarergrsds

Cearstir. 7—mafle sretereniisms -
(1} 2 (2) 0
i R (4 3

Sipasmena eredrmatled Guifiug s ?

(1) @Ax3x3)? () (3+3+3)2

3 343+ (4 [(B+2P



1.

3.

33,

A student ranked 12 from the top and
2374 from the bottom in a class., The
number of students in the class is

(1) 34 (2) 35

32

)] 4 11

If the day before vesterday was Friday,

then the day after tomorrow is :
(1) Sunday

(2) Tuesday

(3) Monday

(4) Wednesday

A man starts walking from his home
northward a distance of 30 mts, He then
took a half turn towards right. The
direction in which he walks now is :

(1) South-East

(2) North-West
(3) MNorth-East

(4) South-West

11

[CODE[vIII] T 20

3. eo aglild o dar orerafssfls s

b

33.

wremrsuflenr &Moo Gusblmis 12-0
B gmgun, £finig 23-ag @S
Bmigrd sfte auglfa o e
LD S0 s et ST 6T esT snsTldheme;
(1) 34 {2) 35
(3) 3z 4 11

Crppmpu Sasdne yrmsu @arb
Geusmaflsflpmusre EirEsrs Eranemu
LOMmIEITSIT ;

T
(elreligumiidl penio
ity psmio
Ly Rlgemin

(1)
(2}
(3]
(4)

S weallsi g ol iy sl kg an e
Gl 30 8. S b fhami. symer lsramt
sueng  Ussoms 457 Game S
Smoydlprt  sofld, sei Bk
Gesretim (& gih e |

(1) Clzsrdipss
auGunis,
L,
gyt G

(2)
(3)

(4)
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34.

35.

36,

ar.

A boy rode his bicycle northwards, then
turned left and rode 1 km and again
turned left and rode 2 kms. He found
himself exactly 1 km west of starting point.
The distance travelled by the boy in the
northern direction is :

(1} 3 kms 1 km

(3)

(2

2 kms (4) 4 kms

A man has ¥ 64 in ten rupes, fifty rupee
and hundred rupee notes of equal
denomination. The total number of notes
areg :

(13 120 (7} 100
(3 110 ) 115
The square root of 36 £ is

(1) 6x° (2} 6 x!2
(3) &xl2 (4) 6 18

I "all the child are men” and "all the men
are women~ then :

{1} all the men are child
(2}
(3)

(4)

all the women are child
all the women are men

all the child are women

12

34,

35.

36.

ar.

dlsusmauilis o dfmada Gesm
Glasimasamg (it G FlmueueT L&) LS
Eerini§) 1 £LE Clrgngy) Seiram wgriipih
BlLg usen i 2 b Geshdimasin,
inE Speds sphburg GSrLfiEo
@ &Sl mia Cubdli 1 £lab. grrgden
BEiugrs sfidprer aafla, -
dlenafley Feyeusit LLsRflSE grma :

(1} 3 &b (2) 1&uf

(3) 248 (4) 44Uk

sy oerfiggii T 6,400 -0 Ll emumi, gUg)
enpumill whgrb BRI epLmis Gemn- Gasmms
Fu aammiismaulli mausg @ombsm,
sufiLfigis Curds Gum’ (Gidssflsr
e el | e

(1) 120 (2} 100
(3 110 (4) 115
36 179 GTETLGET sufdseLpsuld |

(1) 621* 2y 612
(33 B2 ([4) 6 x'8

“all the child are men” IIE[I@.I] “all the men
are women" sTesTlD

(1)
(2)
(3)

all the men are child
all the women are child
all the women are men

all the child are women



38.

39.

40.

41.

I 5+6A7=23then:
(1) =*is +, 418 +
(2) =*is x, Ads —
(3) =+is+,Als +

(4) +is -, Ais x

B+ is =", % is‘+" then (8+5) x 3 is :

n 2 2) 3

1 4) 4

If'"—"is "+ " and “+ " is"' %’ then 16 55

(1) 85 (2) 90

(3) 80 (4) 95

If 2¢3=5, 7*4=11 then 6*4 =
(1) 1.5 (2 2

(3 10 (4) 24

38,

39.

40,

41.

13

[CODE[vVIII| 1 [ 20 ]

26 AT =23 qrafle :

(1) = ereiTug +, A esiTug +
(2) = odTug ¥, A aeiug -
(3) = ereug +, A erarug) +

(4) = eTéTUs —, A eTEITLIGY

.|+.| L ﬂp_..llu[‘-ﬂmlﬁ a:.,-.r “'mlal ||+|l
srarflen, (B+5)x3:

ay 2 () 3

3 1 (4) 4

T el 4+ opmid (= eTeug) C x
sraflen, 16=5-5:

(1) 85 (2) 90

{3) 8D (4) 95

2¥3=35, 7*d =11 erefled, 6=4=
(1) 1.5 (4 2

{3) 10 (4) 24
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42,

43,

44,

The angle between the hour and minute
hands when the time is 3 hours 30 min, is ;

(1) 60° 2y 7

(3 70° (4 75°

A mirror is placed in front of a clock. The
clock ime shows 12 hours (05 min. The
reflecton in the mirror shows §

(1} 1 hour 50 minutes

{2} 11 hours 50 minutes

(3) 1 hour 55 minutes

{4) 11 hours 55 minubes

Manju was born on 29.02.1984. How
many birthdays would have been
celebrated by her upto 2020 7

1 9 (2) 8

(3 36 (4) 4

42.

44.

14

EEmd 3 weefl 30 Hdsams Gmaeh
Gurgl, B PlaEnSEn Gl UL
Gaumemni :
(1) 60°

2y &

(3 70° (4) 75°

s spammido Crrorarg 12 wenfl
05 (b0 Sm (RS S Sy
(pstr setsamrmpsmiul GlummEgnn Gung
ot somy. Sl Hlusidein Gema:

(1) 1 weofl 50 bl
(2) 11 wesef 50 FuSe_risseir
(3) 1 woemfl 55 Fufh_rsmser
(4) 11 wewfl 55 Ehbi_rmer

wEs 29.02.1984 b Simegsimenm srarfls,

i 2020 oy aFsmer Spks
L Genatd Glasmarmpuds i ?

1 9 (2) 8

(3) 36 4 4



45.

46.

47.

A is brother of B but B is not the brother of 45,

A. What is the relation between Aand B ?

(1) A-Brother, B-Brother

(2) A-Sister, B-Brother

(3)  ASister, B- Sister

{4) A-Brother, B-Sister

The number of numbers divisible by 9 and 46,

A betwween 1 to 100 15 ;

(1) 10 (2) 5

(3 11 (4) 6

Which of the following is a composite  47.

number 7
{1y 1 2y 3
3 2 (4) 4

15

[CoDE[vmI] 1 [20]

A srewusuit B eretrusufles sGesm s
spenmed B oererusui A ersorusuflsn
sGangren gea aaflid, A oppon B
S EIGumifleir 2. mayipen :

(1) A= sGangrsir, B—sGsngrsn
(2) A- slasngfl, B-slargre
(3)  A-sGangfl, B-sGargf

(4] A-—sGamgrer, B-sharsfl

1 (pgsn 100 susmyufl gpsmer e ssor & efls
9 wpmb 6 g aGUEID st
T e e | e s

() 10 (2) 5

(3 11 4 6

e (Bl L sTeimaaTisl L sTsoor e 7

1y 1 @ 3

(3 2 (4 4
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48,

49,

50.

Which of the following is a middle- 48.

number i the i mbers

22 17 14

—, 1.732, 4, —, — when written in
T 4 5

ascending order 7

17 22

i o 2 =
E

@ 4 4 3

f4xB8=16; 3x6=9; 5x6=13, then 449,

2%3=
{1y 2 (2) 3
(3 6 (4 1

If 12+4=8; 9+4=5; 7+5=2 then the 50,

meaning of the operator + is :
(1} subtraction

(2} addition

(3}  multiplication

4y  division

16

. 17 16 :

cnac il [ T P DN

o 1732, 4, < el 6T esr e emen
ereestiemendlen sTpgin Gumg,) EHaikl aymin
sTsOar 6T 7

g W 5 2

I 3 L

3 4 4 +

(3) 4 5
4x8=16; 3Ix6=9 5x6=153 aafla
Ixi=

(1 2 2} 3

(3 8 (4) 1

12+4=8: 9+4=5: 7+5=2 maflss =
v (@R g i oy s :

W =sse  nnTQG2
(2} Fnl | 80

(3 Glugydesn

(4] sumdms



Diirection ((Juestion Number 51 to 55) :

Find the missing number /letter in the following
diagrams.

1) 8 (2) 22

(3) 28 (4) 35
52, 23] 1 27 2 HIE
3 il o 6% 5
5|4 5|6 1|2

) 9 2) 2

& 7 (4) 16

33. (43|11 21210 3|12

5 710

2 8|4 215
(1) 10 2 &
(3) 8 (4 12

i - S | 5 3/\2
(1) 5 (2) 6
(3) 2 4) 1

17

[CODE[VIN] 1 [z0 ]

aufiupen : (efleorm ereter. 51 pmed 55 susr)
arEidain’ L L fisafls afGL L ersmmsmamr/
pEemg s aenor(Giilp Hemeh,

51.

52.

53.

54,

@ G

(1) B (2) 22
(3) 28 (4) 35

= 1 27| 2

7 3 7 4

514 5|6
(1) 9 (2 21
@ 7 (4) 16
s|31| |2]2 31|z
2|6 115 FAERET
5la|2] [8]4 70215
(1) 10 2 6
(3) & (4) 12
(1} 5 2) 6
(3) 2 @ 1
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55.

b
11 TR 121E WoO1aT oy
13U 5Y 14T X 155 z
1z 1Y

1y 1

5K

1) 7Y (2} BY

(3 6W ) TW

Direction : (Question Number 56 to 58)

Select the diagram from the given four diagrams
which illustrates the relationship between the
classes,

56.

Class : Odd numbers, Even numbers,
Mumbers

(1)

o (L)
o (©

@ OO0

18

55, aw 1w 11
11 X 170 BW 13T gy
130 BY 14T 6X 1556 4

3Z 4Y 5X
1)y 7Y (2) oY
(3) oew (4) TW

suflpemg - (eSlsorm eTeer. 56 (p@e 58 suswy)

Garpssin L bersinss o i o gdlmear
CaihClmRsaah.

56. Gen@iy : ghmplusmL s,
(BT Sm_CILISTI_ GTERETERET, #THNHT e

(1)

o (LD
o (©

@ OO0



57. Class : Quadrilaterals, Triangles, Lines

58.

@ OO0

o (11D
) @O

Class : Food, Vegetables, Carrot

o (LD
O

(2}

6

19

57.

58.

CODE|VIII| I | 20

G : B, (phGaramimd,
Gampmer

@ Q00

(4) @ O

GlsmEin : 2 emra), smisss, Gamn

o (L0
O

(2)
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Direction : {Question Number 59 to 63)

in the figure given below, there are three
intersecting, circles each represents Electricians,
Artists and Singers. Different regions are
marked as 1 to 7. Read the statements in each
of the following question and choose the correct

BNSWET.

Electricians ;
Artists

59. Electricians who are artists and singers ;

(11 2 (2} 5

B 7 (4) 4

60. Omiy artists represent the region :

y 2 2 a

3 7 4 5

auflppanm : (aflarn ereder. 59 psd 63 aemr)

u_ddier  ppsy Genfhd el RiseT
speuClaumsmmpd @ifiig sirathus) sudbgustser,
EEMEETTEET, DRI LA &ifsealT Spi0. 1 (pasd
7 @ GagullL UgSlser s iu’ G,
GlamPdmlinn’ L S [IEE0ET SaIRTIONTS i)
aflam_wefiaann,

Bsaflugo

EUBIGETITEH6TT

1 ()
\7/

EHETIENER TEHET
a

LiFL_ST&ET

59, memeugh oMM LML sFEarmes [

s eafliisl) euBDEE ST :
{1y 2 2y 5
2 7 4 4

60.  memsugsiasman Lo (0 i diEhn L) :
(1 2z (2) 3

(3 7 4) 5



61,

6.

63.

Singers who are not electricians and
artists :

1y 7 () 4

(3) 5 4 &

Artists who are electricians but ot
singers ;

(H 2 (2) 3

(3 5 4 7

The region 7 represents -
(1}  The people represents all the three

{2)  Artists who are electricians

{3) Singers who are artists

(4}

Electricians who are singers

21

61.

62,

63.

[CODE[VIII] 1 | 20 |

\eirenfliusl eusdguEd 5 0 68T T i
ZYSDSUTE LI 8T 6T -

(L 7 2 4

(3) 5 4 &

LITL it Sysheonss asmegsii e LD

(1) 2 (2) 3
(3} 5 4y 7
7~ augl @b @S Glaug ¢

(1) sysmemdg) Wﬁmhur@.n

(2} dlereflush  susiguEisdr  whmd
SRR EHIT ST

(3)  umsiasr Wb 660\ T Sl

14)  disveflud  adgimisst whmb
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Direction : (Question Number 64 to 68)

Read the given information and answer the
questions.

(i)

(83}

(i)
()
(v

LE

B5.

Five friends A, B, C, D, E are standing in a
row facing same direction.

The position of A, B, C, D, E are not
necessary in the same order.

B is between A and E.
C is immediate right to E.

D iz immediate left to A,

The order of standing position is :
(1) DABEC (2) ABCDE
(3 BACDE (4) CDEBA

Who is left of D 7
(A

(2) none

() B

4) E

Who is right of D ?
(1) B {2} C

(3 E 4) A

nﬁyﬂp:[ﬂhiﬂ‘ﬂh&l@ﬂﬁlﬁﬂmﬂﬂ

QerGésiu’ Heer ssnasmard U
g phangmh seTTEEEHE o e

(i)

(id}

(1)
(v}
v)

63.

B,

A, B, C, D, E sréinp s petmuissr g
Senseiu Gpréd HHADTIsT.

gyeuimsr A, B, C, D, E i auflemsishi
e Grustimp.u sy fichsmen.

A ofipeh E—fig pHells B e e
C erebrumut F—eir ausogylyn S & srarm.
D srsrueui A—sit @ SLmdHled o siamm.

speuflsr Eiigd susflme :
(1) DABEC (2) ABCDE
(3) BACDE (4) CDEBA

D —és @) Cuymib 2 smameur wirt ?
1] A

(2)  ereugime

{3) B

(4) E

[ — i euRUILDLD & siremeurt it ?

™

(1) B (2)

(3) E 4 A



67,

68,

69.

Who is left of C 7
(1 A {2) B

(3) E 4) D

Whao is standing in the middle ?
(1) B ) A
(3 E

4 D

The number of triangles in the following
figure is :

1y & (2) 4

3 o 4 2

23

67,

68,

69,

CODE|VII| 1 | 20

O~ @ mid o sremsu wini ?

(1) A ) B

B3) E 4 D

mbedlen flstri Clesm s, LT w7

(1) B 2y A

3) E 4 D
Garfisain’ L u gl e srar péGaem
mussaTIenT sTsunremtldenes, -

1y &8 (2] 4

(3) @ 4 2
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70,

71.

72

The number of squares in the following
figure js:

(1) 4 2 3

(3 3 (4 6

A die is thrown two times and its two
different positions are given below.
Identify the number on the face opposite
to 3,

apllag

1y 4 @ 1

(3) 3 4) 6
The mirror image of 45 is ;

1 2 (2) d=g
(3) P 4 S4

24

70.

71.

72,

Ger@asiule U Sdd o dar &g
saflir sTsioramfl&ms :

M 4 (2} 5

(3 3 4) 6

G@ usmL  @Fae( peop 2@Grel
ul L i mymetr GausGea mi hlemeuamsi £G1g
Garpéaliul Garerar. 3 — @il
ul (Berer usassdliiE aElT UESSHHh
& GITET GTEOTEnGETE el fllg.

1y 4 (2) 1

(3) 5 (4) &
4S ersruigetr seiremmmy S |
(1) e 2) w=¢
(3) e (4) 5S4



mmw@:
kgﬂ?ﬂgﬁg%

4. The water image of 2L is

n 13 i2) KL

3 L1 43I

73. The water image of the following figure

I5 2

;

[CODE[VIN] T J20]

@ e
O[O [ C

74, 2L ersimumer Sifludh Shbu -

1 13 (2} CL

@ L1 4 3T

75, Ulsbraugni e delsir i S -

X
8% &

(1) (2) ) {4}
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Direction : (Question Number 76 to &0)

Find the figure which is not matching with

others.

7h.

@

7

D

(1) ) (3) ()
T
il (2) (3) (4)
{1} (Z) (2) (4)
79,
B p u R
(1) @) (3) (4)

26

auifipenm © (eflorr evar. 76 ipgmes B0 ausmT)

RarfésuulL HIarE uLrmefis Eamu L
U geng Gepirhes 5 sapD.

76,

748.

79.

AV IR

(3) (4)

ﬁ\ﬁl\& Al

(4]

ke

=R

(1)

(2) 3 {4)



B0,

£

~

B

(1)

{2)

(3}

(4)

Direction : (Question Number 81 to 85)

[dentify the figure which is the continuation of

the given three figures.

81.

B2,

(D

&

D

€,

G,

G

(1)

(2)

3

(4)

{1}

(2]

(3

(4)

27

80,

|[CODE[VIII] T | 20 |

Lo

o

]

(1)

{2)

&)

(4)

aflgenp : (ellerT erair. 81 @6 B5 auenn)

£l o drer ppsitmy ULRiIsEneE o6 EE
rurGeustmew UL Seng seaim(Biilpssnph.

81.

82,

S,

Q)

D

©

G

©

()

3

(4}

/N

¥

(1)

(2)

(3)

(4
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B3.

85.

3 o 83.
?
0
0 O
O O
(1) (2) (3) (4)
Bd.
Q Gl
(1) (2) (3) (4)
85.
Kl X

(1)

(2)

(3)

(4)
28

O o
?
o
Q O
a O
n (2) &) (4)
7

(1)

(2}

(3)

(4)

% | X

{1}

(<)

(&)

(4]



Direction : (Question Number %6 to 90)

Figures A and B are rolated in some manner, By
the same relationship figures C and D are
connected. Choose the figure 1D from the options
(1), (2), (3) and (4).

A B C [
1 |O|0]|A
(1] (2) {3) {4)

87,

(1) (2) (3) (4)

29

ICODE[VIII] 1 [2Z0 ]
aufigpenm ; (aflewm ereder. 86 gpme 90 auanr)

Lo _rhismeir A wiigih B gy fluene sy Qam S
2 eirare. 255 Glgm mild L st C wign D
Sy Fwswa @& guruiisr, uld D —ilmer
UL EiEdT (1), (2), (3) wpmd (4) -k
G GlpEsman.

86, = O =
A B C D
J|o|0O]A
(1) (2) {3) 14

B7.

L
&
]

(1) (2} (3) (4)
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89.

=== |
AlE|O)|
A B C D
A | E|[e] | g
(1) (2) {3 (4)
E |3 || 5|72
A B - D
(W) " S E
(1) (2) (3) (4)
AlAIITY]
A B C b
7N
"—/5‘ o
(1) (2) (3) (4}

=p0o-

89.

an

A | E ?
A C b
A|E|[]|E
(1) 2 (3) (4)
E 3 S ?
A B c D
(¥, nJ 5 E
(1) (2) (3) ()
LK
A B C D
: N
==l vie

(1)

@

(3)

-plo-

(4)
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